KY STARTT dTuaentT WUCE: LEXE[SE

(b) For the design in part (a), describe how you would assign window typcs (A and B) to the numbered window

boxes.
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1. The Better Business Council of a large city has concluded that students in the city’s schools are not learning
enough about economics to function in the modemn world. These findings-were based on test results from a
random sample of 20 twelfth-grade students who completed a 46-question multiple-choice test on basic
economic concepts. The data set below shows the number of questions that each of the 20 students in'the
sample answered correctly '
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(a) Display these data in a\stgmplot
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®) Use your stemplot from part (a) to describe the main features of this score d&smbun g:
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1. The Beitter Business Council of a large city has concluded that students in the city’s schools are not learning
enough about economics to function in the modern world. These findings were based on test results from a
random sample of 20 twelfth-grade students who completed a 46-question multiple~choice test on basic
economic concepts. The data set below shows the number of questions that each of the 20 students in the
sample answered cormrectly.
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(a) Display tﬁese data in a stemplot.
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(b) Use your stemplot from part (a) to describe the main features of this score distribution.
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(c) The company is concerned that a simple random sample of 2,000 owners would include fewer than
12 owners of model D or fewer than 12 owners of model E. Briefly describe a sampling method for
randomly selecting 2,000 owners that will ensure at least 12 owners will be selected for each of the

5 car models.
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{(c) The company is concerned that a sxmpie random sample of 2,000 owners would include fewer than
12 owners of model D or fewer than 12 owners of model E. Briefly describe 2 sampling method for
randomly selecting 2,000 owners that will ensure at least 12 owners will be selected for each of the

5 car models.
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e(P): 1000 x 0:0L] = 21

E(L) = 2000 ¥ 00075 =16
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1. The graph below displays the scores of 32 students on a recent exam. Scores on this exam rangeé from
64 to 95 points.
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(a) Describe the shape of this distribljﬁon. - . ’R”Q W\
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(a) Describe a method for assigning the 24 students to two groups of equal size that allows for a statistically
valid comparison of the two instructional programs. et
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(2) Describe a method for assigning the 24 students to two groups of equal size that allows for a statistically
valid comparison of the two instructional programs.

Give each studmt O npumber, 0}, 02,03... 24
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